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1  ?k.Vs?k.Vs?k.Vs?k.Vs    ] [    iw.kk±diw.kk±diw.kk±diw.kk±d : 70 ¼Hkkx¼Hkkx¼Hkkx¼Hkkx–I : 35,    HkkxHkkxHkkxHkkx–II : 35½½½½     

Time allowed : 2
2
1  hours ] [ Maximum Marks : 70 (Part–I : 35, Part–II : 35) 

iz'u&i= nks Hkkxkas eas foHkkftr gS % Hkkxiz'u&i= nks Hkkxkas eas foHkkftr gS % Hkkxiz'u&i= nks Hkkxkas eas foHkkftr gS % Hkkxiz'u&i= nks Hkkxkas eas foHkkftr gS % Hkkx–I    ¼vkRefu"B½ ,oa H¼vkRefu"B½ ,oa H¼vkRefu"B½ ,oa H¼vkRefu"B½ ,oa Hkkxkkxkkxkkx–II    ¼oLrqfu"B½A ijh{kkFkhZ dks nksuksa Hkkxkas ds iz'ukas ¼oLrqfu"B½A ijh{kkFkhZ dks nksuksa Hkkxkas ds iz'ukas ¼oLrqfu"B½A ijh{kkFkhZ dks nksuksa Hkkxkas ds iz'ukas ¼oLrqfu"B½A ijh{kkFkhZ dks nksuksa Hkkxkas ds iz'ukas 
ds mÙkj dksds mÙkj dksds mÙkj dksds mÙkj dks    viuhviuhviuhviuh    mÙkj iqfLrdk eas fy[kuk gSA iz'u&i= dk HkkxmÙkj iqfLrdk eas fy[kuk gSA iz'u&i= dk HkkxmÙkj iqfLrdk eas fy[kuk gSA iz'u&i= dk HkkxmÙkj iqfLrdk eas fy[kuk gSA iz'u&i= dk Hkkx–I    ijh{kk vkjEHk gksus ij igys mÙkj&iqfLrdk ijh{kk vkjEHk gksus ij igys mÙkj&iqfLrdk ijh{kk vkjEHk gksus ij igys mÙkj&iqfLrdk ijh{kk vkjEHk gksus ij igys mÙkj&iqfLrdk 
ds lkFk fn;k tk,xk rFkk ds lkFk fn;k tk,xk rFkk ds lkFk fn;k tk,xk rFkk ds lkFk fn;k tk,xk rFkk HkkxHkkxHkkxHkkx–II    ds fy, vkf[kjh dk ,d ?kaVs dk le; fn;k tk,xkds fy, vkf[kjh dk ,d ?kaVs dk le; fn;k tk,xkds fy, vkf[kjh dk ,d ?kaVs dk le; fn;k tk,xkds fy, vkf[kjh dk ,d ?kaVs dk le; fn;k tk,xk    vFkkZrvFkkZrvFkkZrvFkkZr~~ ~~    ijh{kkijh{kkijh{kkijh{kk    lekIr lekIr lekIr lekIr 
gksus ls ,d ?kaVk iwoZ ijh{kkFkhZ dks Hkkxgksus ls ,d ?kaVk iwoZ ijh{kkFkhZ dks Hkkxgksus ls ,d ?kaVk iwoZ ijh{kkFkhZ dks Hkkxgksus ls ,d ?kaVk iwoZ ijh{kkFkhZ dks Hkkx–II    dk iz'u i= fn;k tk,xkAdk iz'u i= fn;k tk,xkAdk iz'u i= fn;k tk,xkAdk iz'u i= fn;k tk,xkA    

HkkxHkkxHkkxHkkx–I    ds iz'u&i= esa dqy ds iz'u&i= esa dqy ds iz'u&i= esa dqy ds iz'u&i= esa dqy 12    iz'u ,oa Hkkxiz'u ,oa Hkkxiz'u ,oa Hkkxiz'u ,oa Hkkx–II    ds iz'u&i= eas dqy ds iz'u&i= eas dqy ds iz'u&i= eas dqy ds iz'u&i= eas dqy 35    iz'u gSaAiz'u gSaAiz'u gSaAiz'u gSaA    

Question paper is divided into two Parts : Part–I (Subjective type) and Part–II 

(Objective type). Answer the questions of both parts in your answer-book. Part–I 

of question paper with answer-book will be provided with starting of 

Examination and last one hour of Examination will be given for Part–II i.e. 

question paper of Part–II will be provided before one hour of the end of 

Examination. 

Total questions in question paper of Part–I are 12 and of Part–II are 35. 

•••• Ñi;k tk¡p dj ysa fd HkkxHkkxHkkxHkkx–I ds bl iz'u-i= esa eqfnzr i`"B 7 rFkk iz'u 12 gSaA  
 Please make sure that the printed pages in this question paper of Part–I are 7 in 

number and it contains 12 questions. 



 ( 2 ) 229 

229/ I 

• iz'u-i= esa nkfgus gkFk dh vksj fn;s x;s dksM uEcjdksM uEcjdksM uEcjdksM uEcj dks Nk= mÙkj-iqfLrdk ds eq[;-i`"B ij fy[ksaA 

 The Code No. on the right side of the question paper should be written by the 

candidate on the front page of the answer-book. 

•••• Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksaA 

 Before beginning to answer a question, its Serial Number must be written. 

•••• mÙkj-iqfLrdk ds chp esa [kkyh iUuk / iUus u NksMsa+A 

 Don’t leave blank page/pages in your answer-book. 

•••• mÙkj-iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% vko';drkuqlkj gh fy[ksa vkSj fy[kk mÙkj u 
dkVsaA 

 Except answer-book, no extra sheet will be given. Write to the point and do not 

strike the written answer. 

•••• ijh{kkFkhZ viuk jksy ua0 iz'u&i= ij vo'; fy[ksaA 

 Candidates must write their Roll Number on the question paper. 

•••• d`i;k iz'uksa dk mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u-i= iw.kZ o lgh gS] ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl 
lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;klEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;klEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;klEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k    tk;sxkAtk;sxkAtk;sxkAtk;sxkA 

 Before answering the question, ensure that you have been supplied the correct and 

complete question paper, no claim in this regard, will be entertained after 

examination. 

lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %    

General Instructions : 

    (i)    lHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaA    

        All questions are compulsory.    
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    (ii) izR;sd iz'u ds vad mlds lkeus n'kkZ;s x, gSaA 

        Marks of each question are indicated against it. 

 (iii) vkids mÙkj vadkuqlkj gksus pkfg,A 

  Your answer should be according to marks. 

[ vfr y?kq mÙkjh; iz'u vfr y?kq mÙkjh; iz'u vfr y?kq mÙkjh; iz'u vfr y?kq mÙkjh; iz'u ] 

[Very Short Answer Type Questions ] 

1. ,d ;kSfxd nks rÙoksa M vkSj N ls cuk gSA rRo N, CCP lajpuk cukrk gS vkSj M ds ijek.kq 

prq"Qydh; fjfDr;ksa ds 
3

1 Hkkx dks v/;kflr djrs gSA ;kSfxd dk lw= D;k gS \  2 

A compound is formed by two elements M and N. The element N forms CCP 

and atoms of M occupy 
3

1
 of tetrahedral voids. What is the formula of 

compound ? 

2. iz;ksx'kkyk dk;Z ds fy, iz;ksx esa yk;s tkus okys lkanz 3HNO nzO;eku dh n`f"V ls 3HNO  dk 68% 

tyh; foy;u gSa ;fn bl foy;u dk ?kuRo 1.504 1gm −
L  gks] rks vEy ds bl uewus dh eksyjrk 

D;k gksxh \   2 

Concentrated 3HNO used in laboratory work is 68% 3HNO by mass in aqueous 

solution. What should be the molarity of such a sample of acid if density of 

solution is 1.504 1
gm

−
L  ? 

3. 114g vkWDVsu esa fdlh vok"i'khy foys; (eksyj nzO;eku 40 g 1
mol

− ) dh fdruh ek=k ?kksyh tk, fd 

vkWDVsu dk ok"i nkc ?kV dj ewy dk 80% jg tk,A  2 

Calculate the mass of a non-volatile (Molar-mass 40 g 1
mol

− ) which should be 

dissolved in 114 g octane to reduce its vapour pressure to 80%. 
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4. izFke dksfV dh vfHkfØ;kvksa ds osx fLFkjkad 500 1
sec

− ls v/kkZ;q dh x.kuk dhft,A  2 

Calculate the half life of a first order reaction from rate constant 500 1
sec

− . 

5. gkWQeku czksekekbM  fuEuhdj.k vfHkfØ;k D;k gS \  2 

What is Hoffmann bromamide degradation reaction ? 

[ y?kq mÙkjh; iz'u y?kq mÙkjh; iz'u y?kq mÙkjh; iz'u y?kq mÙkjh; iz'u ] 

[ Short Answer Type Questions ] 

6. 4CuSO  ds foy;u dks 1.5 ,sfEi;j dh /kkjk ls 10 feuV rd oS|qr vi?kfVr fd;k x;kA dSFkksM ij 

fu{ksfir dkWij dk nzO;eku D;k gksxk \ ( 5.63Cu )  3 

A solution of 4CuSO  is electrolysed for 10 minutes with a current of 1.5 

amperes. What is mass of copper deposited at Cathode ? ( 5.63Cu ) 

7. cgqv.kqd ,oa o`gnk.kqd dksykWbM esa D;k vUrj gS \ izR;sd dk ,d-,d mnkgj.k nhft,A  3 

What is difference between multimolecular and macromolecular colloids ? Give 

one example of each. 

8. dkj.k nsrs gq, Li"V dhft, laØe.k /kkrq,a rFkk buds vusd ;kSfxd mÙke mRizsjd dk dk;Z djrs gSA  3 

Explain giving reasons transition metals and their many compounds act as 

good catalyst. 
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9. D;k gksrk gS] tc % 3 

(A) ,fFky DyksjkbM dh vfHkfØ;k tyh; KOH ls gksrh gS \  

(B) 'kq"d bZFkj dh mifLFkfr esa esfFky czksekbM dh vfHkfØ;k lksfM;e ls gksrh gS \  

(C) esfFky DyksjkbM dh vfHkfØ;k KCN ls gksrh gS \   

What happens, when : 

(A) Ethyl Chloride is treated with aqueous KOH  

(B) Methyl bromide is treated with Na in presence of dry ether.  

(C) Methyl Chloride is treated with KCN.  

10. ,Fkhu ds ty;kstu ls ,FksukWy izkIr djus dh fØ;kfof/k fyf[k,A  3 

Write the Mechanism of hydration of ethene to yield ethanol. 

[ nh?kZ nh?kZ nh?kZ nh?kZ mÙkjh; iz'u mÙkjh; iz'u mÙkjh; iz'u mÙkjh; iz'u ] 

[ Long Answer Type Questions ] 

11. (i) SH2 ] TeH2  dh vis{kk de vEyh; D;ksa gS \  1 

 SH2 is less acidic than TeH2 . Why ? 

(ii) veksfu;k dh yfC/k dks c<+kus ds fy, vko';d fLFkfr;ksa dk o.kZu dhft,A  2 

 Mention the conditions required to Maximise the yield of ammonia. 
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(iii) vkWDlhtu ds vlkekU; O;ogkj dh O;k[;k dhft,A   2 

 Describe anomalous behaviour of Oxygen. 

  vFkokvFkokvFkokvFkok    

  OR 

(i) lYQj dk dkSu-lk :i vuqpqacdh; O;ogkj iznf'kZr djrk gS \    2 

 Which form of sulphur shows paramagnetic behaviour ?  

(ii)  fuEufyf[kr lehdj.kksa dks iwjk dhft, %    3 

 Complete the following equations : 

 (a) →+ 34HNOCu  

             
)Conc.(  

 (b) →+ 22 SONaOH  

 (c) →+ (excess)3 23 ClNH  

12. (i) 4-vkWDlksisUVsuSy dh lajpuk cukb;saA  1 

 Draw structure of 4-Oxopentanal. 

(ii) gsyQksykMZ tsfyaLdh vfHkfØ;k dh O;k[;k dhft,A   2 

 Describe Hell-Volhard-Zelinsky reaction. 

(iii) ,sYMksy la?kuu vfHkfØ;k dk o.kZu dhft,A    2 

 Describe Aldol condensation reaction. 
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vFkokvFkokvFkokvFkok    

OR 

 (i) csUthu dks ,slhVksQhukWu esa ifjofrZr dhft,A      1 

 Convert Benzene to acetophenone. 

(ii) izksisuksu dks izksihu esa ifjofrZr dhft,A     2 

 Convert Propanone to Propene 

(iii) ,sFksukWy dks 3- gkbMªkWDlhC;wVsuSy esa ifjofrZr dhft,A      2 

 Convert Ethanol to 3-Hydroxybutanal. 

 

S 

 


